IRONSIDE

IRONSIDE POWER RACK SUPE
COMMERCIAL SERIES 2.0

IRONSIDE

Lista de Piezas

Numero Nombre Cantidad
1 Estructura Base 2
2 Pilar 4
3 Estructura Costado 2
4 Logo 1
5 Barra Dominadas 1
6 Almacenamiento Barra 1
7 Ganchos J-cups 1
8 Safety Arms 1
9 Pins para bandas 6
10 Estructura Base trasera 1
11 Tornillo M12 14
12 Golilla M12 28
13 Tuerca M12 14
14 Golilla M24 40
15 Tuerca M24 24
16 Tornillo M24 16
17 Dip Horns 1
18 Pin 1
19 Landmine 2

20 Tornillo M16 1
21 Golilla M 16 2
22 Tuerca M16 1
23 Pin para Discos 8

IRONSIDE POWER RACK

COMMERCIAL SERIES 2.0

SUPER




	页 1

